
SZAFKA WARSZTATOWA
ROLLER CABINET

PL
GB

YT-09000

I N S T R U K C J A  M O N T A Ż U

CAUTION! 

Before assembling the product, please read the manual and check if all parts are present, if anything 
missing, please contact your customer service for replacement.

The metal may has sharp corners or edges, the use of protective gloves is recommended.

It is recommended that this product be assembled on a clean, soft surface.

PACKAGE CONTENTS

PART GRAPHIC DESCRIPTION QUANTITY

A Fixed wheels 2

B Brake wheels 2

C
Screws for wheel, 

M8 x 20
16

D Washers for wheels 16

E Hex key 6 mm 1

F Metal handle 1

G
Screws for handle, 

M6 x 20
4

GB

A S S E M B L Y  I N S T R U C T I O N S



UWAGA!

Przed rozpoczęciem montażu, proszę przeczytać instrukcję i sprawdzić czy wszystkie wymienione czę-
ści znajdują się w opakowaniu. W przypadku stwierdzenia braków należy skontaktować się ze sprze-
dawcą. 

Podczas montażu zalecane jest stosowanie rękawic ochronnych, ponieważ metalowe części mogą 
mieć ostre krawędzie.

Zalecane jest dokonanie montażu na czystej, miękkiej powierzchni.  

ZAWARTOŚĆ OPAKOWANIA

CZĘŚĆ WYGLĄD OPIS ILOŚĆ

A Koła nieobrotowe 2

B Koła hamulcowe 2

C Śruby do kół, M8 x 20 16

D Podkładki śrub do kół 16

E Klucz imbusowy 6 mm 1

F Uchwyt szafki 1

G
Śruby do uchwytu, 

M6 x 20
4

Odwrócić szafkę i postawić ją na miękkiej powierzchni jak dywan 
lub karton. Pozwoli to zapobiec powstawaniu rys na obudowie 
szafki.

INSTRUKCJA MONTAŻU

Koła hamulcowe zamontować po tej samej stronie co zamek szaf-
ki. Mechanizmy hamulcowe powinny znajdować się na zewnątrz, 
tak jak na rysunku. Koła nieobrotowe należy zamontować po stro-
nie przeciwnej.  

Pod łby śrub podłożyć podkładki. Śruby dokręcać naprzemiennie 
po przekątnej płytki mocującej. Można zastosować dostarczony 
klucz lub użyć własnych narzędzi.  

Postawić szafkę na kołach i przykręcić uchwyt szafki. 

PL PL

I N S T R U K C J A  M O N T A Ż UI N S T R U K C J A  M O N T A Ż U

Turn over the cabinet, lay down it to a soft surface, such as carpe-
ting or a piece of cardboard, to protect it from scratches.

ASSEMBLY INSTRUCTIONS

Place the brake wheels on the same side of the keyhole and 
the fixed wheels on the opposite. Two brake devices should be 
outward the cabinet, as shown.

Insert a washer before mounting the screws, tighten screws in 
diagonal manner not in circle direction. You may use our hex key 
to do this or use your own proper tools.

Turn over the cabinet, set up the metal handle with screws. 

GB

A S S E M B L Y  I N S T R U C T I O N S


